00€-0
052-0
002-0
0S1-0
0Z1-0
00L-0

- R T R 2 R -- L

300 250 200 150 120 100

(-
[
[
[
wwz=yL-1
9
kS
-

i
G'8y
WwZ =it
98y
—
jL
9y
[T e

- b

L
18
Woer=nt-+
€EL
v Ej
2
[
€69
L
€69
Wog=nr-r
7SS
[
j
[
ey
wWwe=ni-1
7SS
[
ﬂ
s
Wwer=Ni-1
j 414
w1
-]
v““L,?g
wwer=nt

N

>

N

>
wwg=y 1
e

o

o
-

]
—
L
L
28
wwoz=n -+
VL
[
[—
L_J
€99
wwroz=n1-1
9V
-
—
o
5
999
wwoz=n -+
Wi
j
L0S
wwroz=n1-1
M
&~
[
>
00S
Wooz=Ni-1

1
—
[
L
€8
Wwgz=n1-r
€GL
—
{ I
L
€9
wwgz=ni-1
EXA
[
9.9
WWGZ=N 1 -+

- b

]
—
L
L__J
8
Wwoe= ¢
€9L
—
o]
L
€89
{wwoe=n |
99
i |
B
989
wwoe=Nr -+

L 224 224

555 sk 257 27
N N
@ ‘ N ‘
o o

00g-Z
0s¢-Z2

- - -

300 250 200 150 120 100

[6°vS]

S8y
Wwzi=) -1
98y

w1
7
LIt
ag
Wuz= -1

(-

[
wwz=yL-1

(-

e

Mo
I
N
»
3
N
»
&)

N
n
N
>
L
L
€69
Wwg= -1
e
o —
£69

&
ver
W=t -1
vy
w1
&
o=
vev
(=

TEL
—

Wurgi=n1
’?T?
—

[

e
wwg=yy-

[

-

58
(n
.rﬁ
Wwg=1-1
Tl
—

06
28
Wwoz=nt-+
VL
El
€99
EX2A
’-|_‘JN
L
999
wwoz=n -+
£°9G]
uﬁg
]
208
wwroz=n -1
098]
uDL
J
00S
Wooz=Ni-1

i
5
B
wwoz=) - b
|
N

L
-
wwgzZ=) 1L

l
8
Wwrgz=ni-i
TSl
T8
RN
[ o—
9
Wwsz=1-1

’
ive
{Wwurpe=n1 -1
T9L
Elj
L
TE
99z
1
rmm—
EES)
{Wwwoe=1-1

wwoe=) 1 -1
N
b

}8410-9

19410-7



